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Abstract: By analogy with Maxwell's equations in electromagnetic form, we can find a group of 

equations in gravitational form that looks very interesting.  
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Maxwel l ' s  equat ions in e lec tromagnet ic  form are equivalent to,   (�) = 1(4π)(ε�)(r)2 ∗ (φ�) = (2π)(i)3(φ�)3(4π)2(R∞)2(φ�)3 ∗ (φ�)， 

⇒
⎩⎪⎪
⎨⎪
⎪⎧  1, (∇·�) = 1(ε�) ∗ (φ�)，2, (∇ × �) = − ∂�∂t ，3, (∇·�) = 0，4, (∇ × �) = (μ�) ∗ (��) + 1(c)� ∗ ∂�∂t  ，

 

⇒
⎩⎪⎪⎪
⎪⎨
⎪⎪⎪⎪
⎧  1, �∇·�� = 1(ε�) ∗ (φ�)，2, (∇ × �) = − 1(ε�) ∗ (��) − ∂�∂t ，3, �∇·�� = −(μ�) ∗ (φ�)，4, (∇ × �) = (μ�) ∗ (��) + 1(c)� ∗ ∂�∂t  ，5, (i) ∗ (�) = (c) ∗ (�) , (i) ∗ (��) = (c) ∗ (��)，(i) ∗ (φ�) = (c) ∗ (φ�)，

 

⇒
⎩⎪⎪
⎪⎪⎨
⎪⎪⎪
⎪⎧  1, �∇·�� = (2π)(i)3(φ�)3(4π)(R∞)2(φ�)3 ∗ (φ�)，

2, (∇ × �) = − (2π)(i)3(φ�)3(4π)(R∞)2(φ�)3 ∗ (��) − ∂�∂t ，3, �∇·�� = − (2π)(i)(φ�)(4π)(R∞)2(φ�) ∗ (φ�)，
4, (∇ × �) = (2π)(i)(φ�)(4π)(R∞)2(φ�) ∗ (��) − 1(c)� ∗ ∂�∂t  ，5, (i) ∗ (�) = (c) ∗ (�) , (i) ∗ (��) = (c) ∗ (��)，(i) ∗ (φ�) = (c) ∗ (φ�)，

 



⇒
⎩⎪⎪
⎪⎪⎨
⎪⎪⎪⎪
⎧  1, (∇·�) = (i)(εo)(c) ∗ �φ��，

2, (∇ × �) = − (i)(εo)(c) ∗ (��) − (i)(c) ∗ ∂�∂t，
3, (∇·�) = (i)(εo)(c) ∗ �φ��，4, (∇ × �) = − (i)(εo)(c) ∗ (��) − (i)(c) ∗ ∂�∂t  ，5, (i) ∗ (�) = (c) ∗ (�) , (i) ∗ (��) = (c) ∗ (��)，(i) ∗ �φ�� = (c) ∗ �φ��，

 

⇒
⎩⎪⎪
⎪⎪⎨
⎪⎪⎪
⎪⎧  1, �∇·�� = (i)(2π)(i)2(φ�)2(4π)(R∞)2(φ�)2 ∗ (φ�)，

2, (∇ × �) = − (i)(2π)(i)2(φ�)2(4π)(R∞)2(φ�)2 ∗ (��) − (i)(c) ∗ ∂�∂t，3, (∇·�) = (i)(2π)(i)2(φ�)2(4π)(R∞)2(φ�)2 ∗ (φ�)，
4, (∇ × �) = − (i)(2π)(i)2(φ�)2(4π)(R∞)2(φ�)2 ∗ (��) − (i)(c) ∗ ∂�∂t  ，5, (i) ∗ (�) = (c) ∗ (�) , (i) ∗ (��) = (c) ∗ (��)，(i) ∗ (φ�) = (c) ∗ (φ�)，

 

⇒ ⎩⎪⎨
⎪⎧ 1, �α�α�β = − (i)(ε�)(c) �β，2, �α�α = (i)(ε�)(c)(c)2 �α，  

⇒ ⎩⎪⎨
⎪⎧ 1, �α�α�β = − (i)(2π)(i)2(φ�)2(4π)(R∞)2(φ�)2 �β，2, �α�α = (i)(2π)(4π)(R∞)2 �α，  

Then,  by analogy,  and cons ider ing the relat ionship between grav i ty  and 

elect romagnet ism,  the equat ions in  the fo rm of  gravi ty  can have,  

 (�) = (GN)(r)2 ∗ (φ�) = (4π)(a0)2(i)(φ�)(2π)(r)2(φ�) ∗ (φ�)， 

⇒
⎩⎪⎪
⎨⎪
⎪⎧  1, (∇·�) = (4π)(GN) ∗ (φ�)，2, (∇ × �) = − ∂�∂t，3, (∇·�) = 0，4, (∇ × �) = (4π)(GN)(c)� ∗ (��) + 1(c)� ∗ ∂�∂t  ，

 



⇒
⎩⎪⎪
⎪⎨
⎪⎪⎪
⎧  1, (∇·�) = (4π)(GN) ∗ (φ�)，2, (∇ × �) = −(4π)(GN) ∗ (��) − ∂�∂t，3, (∇·�) = − (4π)(GN)(c)� ∗ (φ�)，4, (∇ × �) = (4π)(GN)(c)� ∗ (��) + 1(c)� ∗ ∂�∂t  ，5, (i) ∗ (�) = (c) ∗ (�) , (i) ∗ (��) = (c) ∗ (��)，(i) ∗ (φ�) = (c) ∗ (φ�)，

 

⇒
⎩⎪⎪
⎪⎪⎨
⎪⎪⎪
⎪⎧  1, (∇·�) = (4π)2(a0)2(i)(φ�)(2π)(φ�) ∗ (φ�)，

2, (∇ × �) = − (4π)2(a0)2(i)(φ�)(2π)(φ�) ∗ (��) − ∂�∂t，3, (∇·�) = − (4π)2(a0)2(φ�)(2π)(i)(φ�) ∗ (φ�)，
4, (∇ × �) = (4π)2(a0)2(φ�)(2π)(i)(φ�) ∗ (��) + 1(c)� ∗ ∂�∂t  ，5, (i) ∗ (�) = (c) ∗ (�) , (i) ∗ (��) = (c) ∗ (��)，(i) ∗ (φ�) = (c) ∗ (φ�)，

 

⇒
⎩⎪⎪
⎪⎪⎨
⎪⎪⎪⎪
⎧  1, (∇·�) = (i)(4π)(GN)(c) ∗ (φ�)，2, (∇ × �) = − (i)(4π)(GN)(c) ∗ (��) − (i)(c) ∗ ∂�∂t ，3, (∇·�) = (i)(4π)(GN)(c) ∗ (φ�)，4, (∇ × �) = − (i)(4π)(GN)(c) ∗ (��) − (i)(c) ∗ ∂�∂t  ，5, (i) ∗ (�) = (c) ∗ (�) , (i) ∗ (��) = (c) ∗ (��)，(i) ∗ (φ�) = (c) ∗ (φ�)，

 

⇒
⎩⎪⎪
⎪⎨
⎪⎪⎪
⎧  1, (∇·�) = (i)(4π)2(a0)2(2π) ∗ (φ�)，2, (∇ × �) = −(i)(4π)2(a0)2(2π) ∗ (��) − (i)(c) ∗ ∂�∂t ，3, (∇·�) = (i)(4π)2(a0)2(2π) ∗ (φ�)，4, (∇ × �) = −(i)(4π)2(a0)2(2π) ∗ (��) − (i)(c) ∗ ∂�∂t  ，5, (i) ∗ (�) = (c) ∗ (�) , (i) ∗ (��) = (c) ∗ (��)，(i) ∗ (φ�) = (c) ∗ (φ�)，

 

⇒ ⎩⎪⎨
⎪⎧ 1, �γ�γ�δ = − (i)(4π)(GN)(c) �δ，2, �γ�γ = (i)(4π)(GN)(c)(c)� �γ，  



⇒ ⎩⎪⎨
⎪⎧  1, �γ�γ�δ = − (i)(4π)2(2π)2(a0)2(2π) �δ，2, �γ�γ = (i)(4π)2(2π)2(a0)2(φ�)2(2π)(i)2(φ�)2 �γ， 
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